
■ 次のわり算をしましょう。

① 130 ÷ 5 ＝ ⑬ 329 ÷ 7 ＝

② 679 ÷ 7 ＝ ⑭ 354 ÷ 6 ＝

③ 231 ÷ 7 ＝ ⑮ 102 ÷ 6 ＝

④ 270 ÷ 5 ＝ ⑯ 224 ÷ 4 ＝

⑤ 50 ÷ 2 ＝ ⑰ 664 ÷ 8 ＝

⑥ 855 ÷ 9 ＝ ⑱ 188 ÷ 2 ＝

⑦ 496 ÷ 8 ＝ ⑲ 192 ÷ 8 ＝

⑧ 76 ÷ 4 ＝ ⑳ 477 ÷ 9 ＝

⑨ 288 ÷ 9 ＝ ㉑ 246 ÷ 3 ＝

⑩ 392 ÷ 4 ＝ ㉒ 110 ÷ 2 ＝

⑪ 144 ÷ 3 ＝ ㉓ 395 ÷ 5 ＝

⑫ 516 ÷ 6 ＝ ㉔ 114 ÷ 3 ＝
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■ 次のわり算をしましょう。

① 130 ÷ 5 ＝ 26 ⑬ 329 ÷ 7 ＝ 47

② 679 ÷ 7 ＝ 97 ⑭ 354 ÷ 6 ＝ 59

③ 231 ÷ 7 ＝ 33 ⑮ 102 ÷ 6 ＝ 17

④ 270 ÷ 5 ＝ 54 ⑯ 224 ÷ 4 ＝ 56

⑤ 50 ÷ 2 ＝ 25 ⑰ 664 ÷ 8 ＝ 83

⑥ 855 ÷ 9 ＝ 95 ⑱ 188 ÷ 2 ＝ 94

⑦ 496 ÷ 8 ＝ 62 ⑲ 192 ÷ 8 ＝ 24

⑧ 76 ÷ 4 ＝ 19 ⑳ 477 ÷ 9 ＝ 53

⑨ 288 ÷ 9 ＝ 32 ㉑ 246 ÷ 3 ＝ 82

⑩ 392 ÷ 4 ＝ 98 ㉒ 110 ÷ 2 ＝ 55

⑪ 144 ÷ 3 ＝ 48 ㉓ 395 ÷ 5 ＝ 79

⑫ 516 ÷ 6 ＝ 86 ㉔ 114 ÷ 3 ＝ 38
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